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PHY2403H Quantum Field Theory. Lecture 15: Perturbation ground state,
time evolution operator, time ordered product, interaction. Taught by
Prof. Erich Poppitz

DISCLAIMER: Very rough notes from class, with some additional side notes. ~ These are notes for the UofT
course PHY2403H, Quantum Field Theory, taught by Prof. Erich Poppitz, fall 2018.

1.1 Review

We developed the interaction picture representation, which is really the Heisenberg picture with
respect to Hp.

Recall that we found
U(t, t/) — eiHo(f*to)efiH(t*tl)e*iHo(tl*fo), (11)

with solution

t
U(t, ') = Texp (—i / HLim(t”)dt”>, (1.2)
t/

t
U(t, )t = Texp (i / HLint(t”)dt”)
t/

¢ (1.3)
= Texp (—i t Hllint(t”)dt”>
=U(t, 1),
and can use this to calculate the time evolution of a field
¢(x, 1) = U'(t, to)pr(x, ULL, to) (1.4)
and found the ground state ket for H was
Q) = Ul =T) 0) (1.5)

e—iEo(T—10) (()0)

T—oo(1—i€)

Question: ~ What's the point of this, since it is self referential?



Answer:  We will see, and also see that it goes away. Alternatively, you can write it as

U(to, —T) |0
12) (Q0) = T,t” .
e Eo(T—t0) T—s00(1—i€)
We can also show that O U(T, 1)
Q= — il : 1.6
o e~ EoT=10) (0]Q0) |7 o1 _ie) o
Our goal is still toe calculate
(Q Tep(x)p(y) ) - (1.7)
Claim: the “LSZ” theorem (a neat way of writing this) relates this to S matrix elements.
Assuming x° > 1/°
0] U(T, to)U™ (x°, £2)pr (x)U (x°, €YU (1°, £° Uy, t°)U(to, —T) |0

e~i2E0T|(0]Q0) |

Normalize (Q3|Q)) =1, gives

(O] U(T, to)U(to, —T) |0)

e—i2EoT‘<0|Q>|2 (19)
(0] U(T, =T) |0)
e~ 2BT|(0]0)*

so that

0] U(T, to)U" (22, )y () U (x, YU (°, )1 ()U (y°, 1)U (to, —T) |0)

O[U(T, ~1) [0) (110

(Qlp(x)p(y) Q) =

For th >t > 13
.ot ot
U(ty, tr)U(to, t3) = Te ! ftzl Hp Te ! ftsz Hy
-7 <e_i‘[’;1 Hip=ifig H1> (1.11)
= T(eii‘].t;l Hl)’

with an end result of
U(ty, t2)U(ta, t3) = U(ty, t3). (1.12)

(DIY: work through the details — this is a problem in [1])
This gives

(O] U(T, X)pr (UG, y)pr(n)UY°, —T) |0)

(Q9()9) |0) = QU T [0) (1.13)

If y° > x¥ we have the same result, but the y’s will come first.



Claim:

o/T (@(x)@(y)el'fTT HLint“/’d“) 10)
Q] p(x)p(y) |Q) = — - .
(0] T(e*lLT Hy jnt(t)dt )|0)

More generally

(O T <47I(x1) e '(P](xn)efiffTT HI,int(t/)df') 10)

(Qf pr(x1) - - - Pr(xn) [2) =

0] T(e*iLTT Hyine®)dt'y 1)

This is the holy grail of perturbation theory.
In QFT II you will see this written in a path integral representation

JIDPlp(1)g(x2) -~ plaxe =01

(Qf pr(x1) - Pr(xn) [2) = [[Dple—5191

1.2 Unpacking it.

[ A= [ / £x2 (9i(x, 1)’
- [t (00)*

so we have

(0| T <<Pl(x1) x '¢1(xn)e_l% il d4x¢?(X)) 10)
(0] Te~#3 [ 4*x97() |) :

The numerator expands as

(O (161)- - 91x)) 10) = 75 [ @ (01T (paxn) -~ 9u el

1 A 2 4 44 4 4
+3 <—14> /d xd*y (0| T <¢1(x1) - '(PI(xn)(PI(X)fPI(y)) 0) +

so we see that the problem ends up being the calculation of time ordered products.

1.3 Calculating perturbation

Let’s simplify notation, dropping interaction picture suffixes, writing ¢(x;) = ¢;.
Let’s calculate (0| T (¢; - - - ¢,) |0). For n = 2 we have

(O] T (¢1---n) [0) = Dr(x1 — x2)
= D(1 —2)

(1.14)

(1.15)

(1.16)

(1.17)

(1.18)

(1.19)

(1.20)



TO BE CONTINUED.  The rest of the lecture was very visual, and hard to type up. I'll do so later.

1.4 Problems

Exercise 1 U(T, to)U(ty, —T)

Show that
u(T/ tO)U(tOI _T) = u(T/ _T)

Answer of exercise 1

We can see that from ‘ | |
U(T, to) = i Ho(T—to) ,—iH(T—to) ,—iHoktg=To

U(to, —T) :We_iH(to__T)e_iHo(—T—to),

SO

u(T’ to)U(to, _ T) — el‘Ho(T*to)efl‘H(Tfto)efl‘H(to-i-T)e*iHo(*T*to)
— eiHO(Tfto)efiHZTefiHO(foto)

whereas
U(T, _T) — eiHo(T—t[))e—iH(T——T)e—ng(—T—to)

— eiHo(TftO)efiHZTefiHo(fTftg)

(1.21)

(1.22)

(1.23)
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